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ead the following instructions carefully before yoﬁ begin to answer the questions.

IMPORTANT INSTRUCTIONS

1. This Question Booklet contains 150 questions in all.
. All questions carry equal marks.
. Attempt all questions.

. Immediately after commencement of the examination, you should check up your
 Question Booklet and ensure that the Question Booklet Series is printed on thg top

right-hand corner of the Booklet. Please check that the Booklet contains 48 printed
pages including two pages (Page Nos. 46 and 47) for Rough Work and no page or
question is missing or unprinted or torn or repeated. If you find any defect in this
Booklet, get it replaced immediately by a complete Booklet of the same series.
If there is any sort of mistake either of printing or of factual nature, then out of English and
Hindi versions of the questions, the English version will be treated as standard.
. You must write your Roll Number in the space provided on the top of this page. Do not write
anything else on the Question Booklet.
. An Answer Sheet will be supplied to you separately by the Invigilator to mark the answers.
You must write your Name, Roll No., Question Booklet Series and other particulars in
the space provided on Page-2 of the Answer Sheet provided, failing which your Answer
Sheet will not be evaluated.
. You should encode your Roll Number and the Question Booklet Series A, B, C or D as it is.
printed on the top right-hand corner of the Question Booklet with Black/Blue ink ballpoint
pen in the space provided on Page-2 of your Answer Sheet. If you do not encode or fail to
encode the correct series of your Question Booklet, your Answer Sheet will not be
evaluated correctly.
. Questions and their responses are printed in English and Hindi versions in this Booklet.
Each question comprises of five responses—(A), (B), (C), (D) and (E). You are to select ONLY
'ONE correct response E}nd mark it in your Answer Sheet. In any case choose ONLY ONE
response for each question. Your total marks will depend on the number of correct responses
marked by you in the Answer Sheet.
. In the Answer Sheet, there are five circles—(A), (B), (C), (D) and (E) against each question.
answer the questions you are to mark with Black/Blue ink ballpgin% pen ONLYqQNE c?rc’lig
of your choice for each question. Select only one response for each question and mark it in
your Answer Sheet. If you mark more than one circle for one question, the answer will be
treated as wrong. Use Black/Blue ink ballpoint pen only to mark the answer in the
Answer Sheet. Any erasure or change is not allowed.
. You should not remove or tear off any sheet from the Question Booklet. You are not allowed
to take this Question Booklet and the Answer Sheet out of the Examination Hall during the
examination. After the examination has concluded, you must hand over your Answer
Sheet to the Invigilator. Thereafter, you are permitted to take away the Question Booklet
with you:
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L. Which of the folloving was not
a reason for making the sepoys
of the East India Company
rebellious?

) The efforts of the offcers
of the Company to spread
Christianity

(B) The order to the sepoys to
travel on ships

(C) The stoppage of Bhatta

(D)(The inefliciency of the
offioers

(E) None of the above/More #

than one of the above

» About  Mughal  Emperor
Bahadur Shah Zafar, it was said
that his empire extended from

(A Chandni Chowk to Palam
(B) Delhi to Bihar

(C) Peshawar to Bihar

(D) Peshawar to Varanasi

(E) None of the above/More
than one of the above

+ Who among the following dfd
not rebel against the British
Fast India Company's control
over them?

(A Reja of Vizianagaram
(B) Nizam of Hyderabad
() Polygar of Tamil Nadu

(D) Dewan Velu Thampi of
Travancore

(E) None of the above/More
than one of the above

4, The Indigo Rebellion was abou

(A the peasant not wanting to
grow indigo but being forced
to

(B the peasant wanting to grow
indigo but being forced not to

FD/CC/PI-2018/5:8

_ t not wanting tg
Y thgwp ffdsg but being forgced
o govil @ price that wag
nacceptable
g protst movement thay

carried &n indigo-coloureg
flag

e of the above/More
i {\ho; one of the above

]

5, The mmediate cause of tho

Deccan Rits of 1870 wege

(A the shadow of a faming™
5] high interest rales charged

by Mehajans

(] high land revenue rates

] protest against. imposition
of religious reforms

(B Non¢ of the above/More
than one of the above

6, Rajani Pame Dutt said, “They

hoth fought and- collaborated

yith  imperialism.”  Which

poiticsl  grouping  was  he

referring 107

W The Indian  National
Congress

(B The Communist Party of
[ndia

(C) The Swaraj Party

(D) Hindustan Socialist Repub-
lican Association

(B) None of the above/More
than one of the above

T Which of the following was not %

4 ‘nationalst' newspaper?
) The Hindy

(B) Bengalee

(C) The Mahvattg

1D} Tre Times of hgig

[B) None of the above/More
than one of the above
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i T T, A iR, A T I T
8. Identify the correct combination (D) G. Subramania Iyer, Bal 8. , 3m : - (D) e , =

arth . IS, TEATS TS TNED S, T W
5 . Gangadhar Tilak, Surendra TR 1 - : ,

f the options given below for : .

Prarthana Samsj. Young India, hhsBReteleg, R Fe fwed % 2w d i, i o v
Lokhitvadi, Satyashoedhak Samaj, Pgasad ) P

i TR :
Rehnumai Mazdayasan Sabha : Krishna Gokhale

(A) Gopal Hari Deshmukh,

(E) None of the above/More

(E) vwdw § & i /30w § 3 7
& s

G aram Pandurang, than one of the above (A) MU & %irg@;ﬁgﬁqmﬂ qrig, 10. =@ T fres dEEE e
Mohandas Karamchand 10. Bal Gangadhar Tilak came to be HIETETd Feee T, < , 9 A ST S 9, S
Gandhi, Jyotiba Phule, known as ‘Lokmanya Tilak thn il a;{—,,?ﬂaﬁ A 3 o e e R <
aoroji Furdonji (A) he became a popular e ] p 0
(B) ',/thmaram Pandurang, teacher (B) TTHIH Wigll, Wiede™ =He=e (B) ﬁﬁﬂ:gﬁg‘%‘@%“i
Mohandas Karamchand (B) he started a popular e, T = e, s (C) WThEA T Hfvgrh
Gandhi, Gopal Hari newspaper

Deshmukh, Jyotiba Phule,
Naoroji Furdonji

(C) Atmaram Pandurang,
Jyotiba Phule, Mohandas
Karamchand Gandhi, Gopal
Hari Deshmukh, Naoroji

(C) the government accused
him in the Rand Murder
Case

(D) he started the Shivaji and
Ganpati festivals

(E) None of the above/More

T, RN FErsh

S
(D) =R fErh 3 oy I 1E
il

(B) ST® A A i TE/I0H 8 A T
Y 3w

T
Furdonji : than one of the above s T i 11. TR ¥ fa d ﬂ&fﬁa‘;?ﬂ
(D) Naoroji Furdonji, Atmaram 11. How old was Bhagat Singh when (D) osh et i T e e ) 39 w0 A

R e hnendee he threw a bomb in the assembly e m&% » T &) 21 @@

aramcnand Gandhi, Gop i otest against the govern- WE, e

Hari Deshmukh, Jyotiba s ; g (B) 21 @ & shel v

Phule A) 21 years qng;ﬁ qﬁm’ﬁ?ﬁﬁﬁ@ (C) 25+«
(E) None of the above/More 8] ) (E) A/

than one of the above

From the options given below,
find the correct combination
of the names of Editors of
the nationalist

(B) Alittle more than 21 years
(C) 25 years

(D) A little more than 25 years
(E) None of the above/More

3 s

. A= fRu T ol @ @ TeEE) eeeEn-

(D) 25 9@ | o ==

(E) 3w A} s 76 /37® F §
it

S cWehuasers than one of the above T g fes, F@, S, 1%3? T, a2 e 3% wEn & e
The Hindu, Kesari, Bengalee, 12. The Jallianwala Bagh Massacre " gmﬁh‘ﬁi TUEF % AWl H e SAEA =
Hindustani, Sudharak : happened in the context of I FR (&) SRIEE
(A) Surendra Nath Banerjea, D’\?}lich Gandhian Satyagraha? (B) e wem
G. Subramania lyer, Bal Swadeshi Satyagraha A e e C) SRE Hems
Gangadhar Tilak, Ganga {(B) Rowlatt Satyagraha (A TRl S - e it
Prasad  Varma, Gopal (C) Bardoli Satyagraha e T T, TR =, (D) .
Krishna Gokhale 8 e e (B) 3 # & #d 7 /3 B & T
(B) Bal Gangadhar Tilak D). Individual Satyagraha o Y s
G. Subramania  Iyer, () None of the above/More : T NE] G s .
S irerira G Baner}’c; than one of the above (B) el TR ) o 13. = fir B ¥ faa® 1857 %
Ganga  Prasad Varma, 13. Where did Kun

Gopal Krishna Gokhale

war Sin gh join

S, G S, T

here fie § fre S Tl g7
the Rebellion of 1857 against i, T = s
() g Subramania Iyer, Bal the British? i 3 e ((?:)) % ((g)) TR
' .Gangadhar Tilak, Ganga {A) Arrah (B) Patna Sfo gemivEn W, = IR ExE
_IIeria:}?d & \ﬁ]r;la, & Gogaj (C) Bettiah (D) Varanasi 3 f‘a;-cg T wEe 96, e F ) ﬁﬁ hh e
na Gokhale, Surendra (E) None of the ab ' ' 3
Nath Banerjea than one of the a‘SXSé VS e, gEm T
[P T.©;
FD/CC/PT-2018/5-B 4 FD/CC/PT-2018/5-B .













31.

32.

33.

34.

35.

Which of the following has pH

value 77?

(A) Pure water

(B) Neutral solution

(C) Basic solution

(D) Acidic solution

(E) None of the above/More
than one of the above

Which of the following elements

does not contain neutrons?

(A) Oxygen

(B) Nitrogen

(C) Hydrogen

(D) Copper

(E) None of the above/More
than one of the above

Angstrom is a unit of

(A) wavelength-

(B) energy

(C) frequency -

(D) velocity

(E) None of the above/More
than one of the above

Frequency is measured in

(A) hertz

(B) meter/second

(C) radian

(D) watt

(E) None of the above/More
than one of the above

Who discovered DNA?

(A) James Watson and Francis
Crick

(B) Gregor Mendel

(C) Johannsen

(D) Hargovind Khorana

(E) None of the above/More
than one of the above

FD/CC/PT-2018/5-B
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36.

37.

38.

39.

40.

What is triglyceride?

(A) Protein

(B) Carbohydrate

(C) Fat

(D) Mineral

(E) None of the above/More
than one of the above

Electroencephalogram (EEG) is

used in monitoring

(A) heart

(B) liver

(C) pancreas

(D) brain

(E) None of the above/More
than one of the above.

Body temperature is regulated

by =

(4) thalamus

(B) hypothalamus

(C) cerebellum

(D) medulla

(E) None of the above/More
than one of the above

Choose the correct statement.

(A) Wavelength of red light is

less than violet light.

(B) Wavelength of red light is |

more than violet light.

(C) Wavelength of violet light is |

more than green light.

Wavelength of violet light is

more than yellow light.

(E) None of the above/More
than one of the above

The value of 40 degrees Celsius

in Fahrenheit scale is

(A) 104 °F (B) 100 °F

(C) 102 °F (D) 75 °F

(E) None of the above /More
than one of the above

(D)

31.

32.

33.

34.

35.

1 5 B e pH T 7 27

(A) & U

(B) e faerm

(C) & femm

(D) 3= ferm

E Lk

(E) ng{;m T /3w 1 A

Foret aeeit & A el =i i @ 27

(A) HATFSA

(B) g

(C) TN

(D) e

(E) 37 & A 9 71 /30w & 4 w5
B A

T @ R

(A) e

(B) Fwi #

(C) =g Hi

(D) amH

(E) 3% # 4 F T61/3H 4 4 @
¥ e

FE T S e

(A) &S A

(B) Hi= ufd ¥he #

(€) e #

(D) SeH

(B) 39 3 & #1730 4 4
¥ e

DNA #i @« e H?

(A) ST SieEd T HivE

(B) R H=W

(C) e

(D) EufE= GOl

(E) I & & ¥ 71 /306 A 4
9 sifirm
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36.

37.

38.

39.

IrRferse #=0 87

() wem

(B) HraigrEge

(C) ==

(D) @@=

(B) 35 & & # T8 /30w § A @
3 arf

(EEG) fm= @ @

Torgeh Pt %6 fore S @ &7
(A) &= ()
(B) #Fa (<fia)
(©) =y (Hfram)
(D) =fesh
(E) 37w & & $rd /30w 3§ 4

g i

TR 1 s e W €
(A) Semg

(B) I

(C) Tewm

(D) Tgen
(E) 3ufw 1 & ¢ /30 1 ¥ &
q At

T A g

(A) T TeRTE T GO, AT FRE
¥ FA B

(B) TSl TSI I TG, ST T

A S R

(C) et webrr =1 T, R YW A
e R

(D) =t W 1 qareE, die S
/7= R

(E) 3w # & & /3w § A @&
3 afies

40 feift afcoma 1 7 FRAGEE Sha

i3

(A) 104 °F (B) 100 °F

(C) 102 °F (D) 75 °F

(E) I9®H 8 o /e 1 3 =
3 wifrm

gi8 [P.T.O.
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S51. Defence Minister of India
Smt. Nirmala Sitharaman made
a three-day visit to which nation
in the first week of October
20182

(A) Russia

(B) Kazakhstan
(C) Ukraine

(D) China

(E) None of the above/More
than one of the above

52. The Parliament of which of the
following nations dismissed the
honorary citizenship of Aung
San Suu Kyi in October 20187

(A) USA

(B) United Kingdom
(C) Norway

(D) Canada

(E) None of the above/More
than one of the above

53. Which of the following is not
associated with NAFTA?

(A) Great Britain
(B) Canada

(C) Mexico

(D) USA

(E) None of the above/More
than one of the above

FD/CC/PT-2018/5-B 16

54.

55.

56.

With which nation, India hag
signed an agreement Mobilize
Your City’ in September 20187

(A)
(B)
(©
D)
(E)

Where did Foreign Minister
Smt. Sushma Swaraj inaugurate
‘Panini Language Laboratory’ in
August 2018?

(A)

(B)

(©)
”~

(D)

(E)

Which nation enacted ‘Human
Organ Transplantation Law’ for
migrants from Indian origin in
August 2018?

A)
(B)
(©)

)
(E)

Sweden
Germany
Japan
France

None of the above/More
than one of the above

Sri Lanka
South Africa
Mauritius
Indonesia

None of the above/More
than one of the above

United Kingdom
Canada

USA

Singapore

None of the above/More
than one of the above

51. T 2018 % Wom TR ¥ w6
& il fafen om
1 Frfeewa amn w o o7

A) ==

(B) Wwifmea

(©) T

(D) ==

(E) 3T & & # T3 § F
TF ¥ Afrem

52, ot 2018 ¥ fi= 4 ¥ fFm 3w H
TEG A A W H H H HFEG AT
9| o A7

(A) I g AR
(B) T fEmem
(c) A=

(D) el

(E) 39w # & +E /30 A A
T 9§ AH

53. P YR T’ # it T {7
A) e fsem
(B) FI=
(C) wfFH

(D) e T AR

(E) IEE § @ w6 w/EEE A ¥
TH q Al

FD/CC/PT-2018/5-B
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54.

55.

56.

e 2018 % wa ¥ R 3 F T
‘Hifererss O A TN w swma
Fra?

(A) ==
(B) it
(©) S

(D) wE

(E) 3w # & FE TE/3WE § |
T 9 AR

I 2018 # fagm Wt Al gow
e 3 frm A ‘Wi s
WiTeTen’ 1 3gEred

(A) iR

(B) =fam snhrER
(C) wrir

(D) =

(B) SHw & @ @5 /30w 4 4
wh A e

e 2018 # R 3 3 R g9 %
wardt @t % R S yemhe 6B
g 3 e FE A Y

(A) TS fHmen

(B) T

(C) Hgw Tg IR

(D) T

E) s & ¥ B w/IEE § A
wF A A

[P.T.O.




57.

59.

Emmerson Mnangagwa was
elected as the President of
which country in presidential
election held in November 2017?

(A) Uganda
(B) Kenya
(C) Zimbabwe
(D) Ghana

(E) None of the above/More
than one of the above

On 20th July, 2018, which
nation ended emergency after
two years?

(A) Iragq

B) Syria
(C) Turkey
(D) Yemen

(E) None of the above/More
than one of the above

Which of the following nations
declared emergency due to polio
outbreak in June 2018?

(A) Papua New Guinea
(B) Fiji

(C) Philippines

(D) Mali

(E) None of the above/More
than one of the above

60. For how many tixfles, Indi
won the Cricket Asia Cup 'o \
20th September, 2018 defeatin, ,

61.

62.

Bangladesh?
(A) Six times
(B) Seven times
(C) Eight times
(D) Nine times
(E) None of the above/More

than one of the above

Which of the following is the
correct order of medals won by
India in the 18th Asian Games,
2018 (Jakarta)?

Gold Silver Bronze Total
@A) 15 21 33 69
(B) 15 32 22 69
©) 15 30 24 69
D) 15 24 30 69

(E) None of the above /More
than one of the above

Which is the first Indian airline
company that used biofuel as
ATF in August 20187

(A) Jet Airways
(B) Vistara

(C) Air Indig
(D) SpiceJet

(E) None of the above /More
than one of the aboye

57. @R 2017 ¥ oE Tgufy g9 A

58.

59.

A AT R w % w3
o §?

(A) g
(B) %=
() fomsm=
(D) =

(E) I & ¥ 7 TH/awe § d
T | Al

e 391 & forma <1 9] | A ST
=1 20 J&TE, 2018 =1 FHW {1 e

(A) T
(B) wifen
(C) gH
(D) ¥

(E) 0% & ¥ 3 Té/3vw § ¥
T T aifies

S 2018 # WifeEl % WhHY h HROT
Torm 1 & avaTaeTer T foR TE?

(A) rgen = fref
(B) Tsh

(C) frchrf=
(D) e

() Iww & 3 @+ 7@ /5we ¥ @
Th § 3fereh

60.

61.

62.

29 @R, 2018 I TR F FAH
A ¥ Fo el TR e = o
Y Sfi?

(a) 3A =W

(B) ®radi =1

(C) 3madl @)

(D) & SR

() 3w § ¥+ /3w § }
T B A

189 wREE @«@, 2018 (Sm@i) #
RA F S Y geHi H A wE e
T8 -7 87

|l W W P

A 15 2133 69
B) 15 32 22 69
(€ 15 30 24 69
D 15 24 30 69

(E) 3% & & #¢ 7dl/3gw & ¥
TH q A

T 2018 § To Ao Who F &7 &
TE-FIA F TET FA AA T
YRR e et - 27

(A) S TEEs
(B) forwma

(C) wm sfean
(D) wIEESE

(B) 39w & @ # Tf/swfw & 3
TF ¥ e
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63.

64.

65.

In June 2018, how much
amount the World Bank has
approved for ‘Atal Bhujal
Yojana’, an ambitious scheme
of India?

(A) ¥5,000 crore
(B) ¥6,000 crore
(C) ¥7,000 crore
(D) 8,000 crore

(E) None of the above/More
than one of the above

According to the report of
IIT, Kharagpur study group,
continuous low rainfall for
how many years was the cause
of fall of the Indus Valley
Civilization?

(A) 600 years

(B) 700 years

(C) 800 years

(D) 900 years

(E) None of the above/More

than one of the above

According to Indian Forest
Status Report released in
February 2018, how much area
of India is covered by forests?

(A) 23:00%
(B) 23-40%
(C) 24-00%
(D) 24-40%

(E) None of the above/More
than one of the above

FD/CC/PT-2018/5-B 20

66.

67.

68.

In January 2018, which Indiar
State allowed people to establig
a humanitarian  relationship
with trees, i.e., brother-sister?

(A) Assam
(B) Sikkim
(C) Nagaland
(D) Manipur
(E) None of the above/More

than one of the above

Which district achieved the
first position as per ‘Swachh
Survekshan Grameen, 2018

(A) Gaya—Bihar
(B) Tuticorin—Tamil Nadu
(C) Satara—Maharashtra
(D) Meerut—UP

(E) None of the above/More v

than one of the above

Which scheme was recognized

as world’s largest insurance
scheme launched in India in
September 2018?

(A) Pradhan Mantri Jan
Aarogya Yojana
(B) Pradhan Mantri Jan

Swasthya Yojana

(C) Pradhan Mantri Fasal Bima
Yojana

(D) Pradhan Mantri Jan Dhan
Yojana

(E) None of the above/More
than one of the above

63.

64.

65.

SJ 2018 # WA R ©F mEwTHat
A e e de ¥ R fiva
e 3 orafl rafi o 1 27

(A) ¥5,000 Fg

(B) ¥6,000 F2

(C) ¥7,000 Fe

(D) 8,000 Hirg

(E) 39w % & +8 /3w § A
T U AR

3o 3Fo Zlo, ST & A
#I fri % gER amer R a6t A
3 % TR F91 B e Ry O
% qaq 1 HROT &1 A7

(A) 600 Td
(B) 700 Td
(C) 800 7
(D) 900 =9

(B) 39w & @ #13 96/3%® 7
T A s

wEh 2018 H WM wa # A
ferfa fdid % sgEn W@ @ TR
wfauTa s 998 % 3faia AT ef

(A) 23:00%
(B) 23-40%
(C) 24-00%
(D) 24-40%

(£) e & ¥ * T/ 4 3
TH § Al
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66.

67.

68.

et 2018 # v * R T A it
w g&l F ww qweE e (wd-ae)
ST ) ) e A7

(A) 3|
(B) fafEm
(C) Aere
(D) wfTg

E) 3w § 3 w1 /o d A
T 9 Afw

‘wrs gagw ude, 2018° # fFE
et =t werm Torm ww gan?

(A) TE—FRER

(B) TefeRiie—dfiemTg
(C) FT—HERE

(D) BE—IW Wew

(E) 3% § A F¢ /3w 4 A
T Y AftE

iy 2018 # wrow h T a@ R
form I % fawe o wEw @ fm
ST WHET T /7

(A) THFEEA S AR A
(B) WU S TR Al
(C) WuEHt wHe S A
(D) WIS S €7 G

(E) vw ¥ ¥ = /30w § ?
TF | AH

(P.T.O.



69. In which of the following
institutes was the first Indian
Railway. University established
in Sep/t‘ember 2018?

(A) Indian National Rail
Academy—Vadodara

(B) Indian Railway School—

-~ Pune

(C) Indian National Rail
Research Institute—Mysore

(D) Indian Rail Coach Institute
—Kapurthala

(E) None of the above/More

than one of the above

70. JIMEX 2018 relates to

(A) Japan-India Joint Military
Exhibition
(B) Japan-India Maritime
Exercise

(C) Japan-India Joint Motor-
vehicle Exhibition

(D) Japan-India Joint Missile
Programme

(E) None of the above/More
than one of the above

71. In which city/State was air

pollution control system VAYU’
installed in September 20187

(A)
(B)
(©)
(D)
(E)

Chennai
Amritsar
Delhi

Varanasi

None of the above/More
than one of the above
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72.

73.

74.

(D) Speaker Smt.  Sumitra
Mahajan
(E) None of the above/More

Minister 7
Kumar launched more than
750 development schemes at
Begusarai and Khagaria
districts on 6th January, 2018?

(A) Vikas Yatra

(B) Vikas Survekshan Yatra

(C) Nav-Srijan Yojana, 2018

(D) Vikas Samiksha Yatra

(E) None of the above/More
than one of the above

Deputy Chief

In which city,

Minister Shri Sushil Modi

inaugurated Bihar's first

‘Start-up Hub’ on 16th March,

2018?

(A) Motihari

(B) Munger

(C) Patna

(D) Arrah

(E) None of the above/More
than one of the above

On 22nd March, 2018 who
unveiled the book, Neel Ke
Dhabbe on the occasion of
106th Bihar Day in Patna?

(A) Vice President Shri
Venkaiah Naidu
(B) Prime  Minister  Shri

Narendra Modi

(C) Home Minister Shri Rajnath
Singh

than one of the above

70.

71.

. Toamt 2018 # = § @ fobg deamw

W F OUUH o FvEfEem wnfh
T T an?

(A) ST TEE e TeHi—asea
(B) v e TgE—gh

(C) T TR T T HEHE—AR
(D) T Yel e A —FqIl

(£) 304w # & B /3w A A
wF ° Al

JIMEX 2018 % ¥&d 8

(A) THTH-STE Gge el see @

(B) FOE-RE & AEel F
JgaE

(C) UH-¥TE ¥ Hewed i |

(D) -5 Fg vt e

E) Tw § A B /T A
T Y AUE

Y ST e ¥ feamr 2018 #
(‘aﬁo To dIgo 'l!g) oIt <

Wﬁmw/mﬂﬁmw?

(A) <=

(B) STIaH

© &

(D) TR

(E) mi%ﬂ‘f?ﬂ/@ﬁ%
A A
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73.

74.

FAR A 6 A, 2018 H HET I
e swer # F 750 A I
T Al <61 e Rt

(A) fempm| @En

(B) forerm waen AN

(C) TE-goH T, 2018
(D) forerre weftan ==

(E) @ § A w /3w {2
s ¥ s

16 7, 2018 = IgETE A G
T 3 frew & frg TR H TS % WU

“@ré-3m g’ 1 IR A7
(A) wifaerdt

(B) g

(C) wem

(D) ¥

E) 3dF § @ B E/3HE q 3
w A AfF

22 7, 2018 F faEw TS F 1069

2o EE ¥ v W fRE e A

A F y= TF G H R

feran?

(A) Iurgafa A FH AEY

(B) wumEA A T W

(©) T W oh T fE

(D) F TN weIE A gt
TRISH

(E) 3w & A = T/IEE A 3
T Y A

[P.T.O.




75. The capacity of India’s most
powerful electric locomotive
engine made in Madhepura
Locomotive Factory is

(A) 9000 HP

(B) 10000 HP

(C) 11000 HP

(D) 12000 HP

(E) None of the above/More

than one of the above

76. On 10th April, 2018,
Prime Minister Shri Narendra
Modi addressed ‘Swachhagrahis

National Convention’ in
-(A) Motihari
(B) Patna
(C) Kishanganj
(D) Katihar

(E) None of the above/More

than one of the above

77. In which airport, NDMA
conducted a mock drill based
on CBRN emergency in April
2018?

(A) IGI—New Delhi

(B) LNJP—Patna

(C) CSI—Mumbai

(D)

(E)

DABH—Indore

None of the above/More
than one of the above
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78. According to & report, what ig

79.

80.

the rank of Patna city among

20 cities as per availability of

4G signals between December

2017 to February 2018?

(A) First

(B) Second

©) Nineteenth

(D) Twentieth

(E) None of the above/More
than one of the above

In which city of Bihar,

Sulabh International launch

cheapest drinking water project

‘Sulabh Jal?

(A) Patna

B) Bhagalpur

C) Darbhanga

than one of the above

Which of the following is
not true about Bihars
Mukhyamantri Kanya Utthan
Yojana? 1
(A) Proposed annual expenditure
for the scheme is ¥7,221
crore 3
Education, Health and Social
Welfare trio departments
ran the scheme -
Every girl child will receive
total €60,000 from her
birth to graduation level
education .
(D) At the time of a girl child’s
birth, her family receives #
72,000 R |
None of the above/More:
than one of the above

(B)

(©)

(E)

75. HUYU Wehmied Fad # e ywa
el wieel fRg W oW
amd B

(A) 9000 3o 3o
(B)
(C) 11000 3o o

10000 3o ITo

(D) 12000 FHo s

(B) T0dw @ @ =8 7E/3H® 7 A
wF 4 AE

10 =@, 2018 H wgFEA A TR
i Y ‘eEontE F TgE e B
el Tt fBRar?

(A) e

(B) I

() T

(D) HieER

E) wE & ¥ # 7@/364E # J
T § A

76.

o o THo T I 3w 2018 #

Ho dflo 3MMe TWo W T ATETG

s RE #1 waw R T W

Tern?

(A) 3o Sfto MEo—# fogf

(B) Teio To o Fo—T&l

(C) o THo MRo—Tr

(D) o To o TN

£) s § ¥ 7 T/ 3
w4 A

77.
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78.

79.

80.

w T % ergEw, Reew 2017 @
wat 2018 % " 4G fawa Hi
Iyerea FI g W 2 F 20 wedl A
el 1 T 3

(A) Som

(B) fadfm

(C) Etwai

(D) =EEt

(E) I # ¥ w5 /e § A

k-l D C O

g fecivem 3 faEn % FRA Am d

Tef = T A ITEE H ey g

et S smee fore 27

(A) T

(B) meIgt

(©) =

(D) R

(E) vE® & A 5 T/ A A
wF U Al

form B ‘g % IR A

Ty 1 FH-81 @A 87

@) F  w AEE =
£7,221 e FEfE &

@) foen, wWre IR FASE-FAT
A Fai g A EEE

(C) 5 A W o A e i F
T T&F FA1 H € 60,000 T
fopu wma

(D) F firg % W F wE I
qfER @ €2,000 WA R
Sl

(E) 366 § @ = 7@/ 4 4
o ¥ AfuE

/
[P.T.O.



81.

82.

83.

FD/CC/PT-2018/5-B

The earliest evidence of animal
domestication and agriculture in
India has come from

(A) Anjira

(B) Damb Sadat

(C) Kili Gul Muhammad
(D) Mehrgarh

(E) None of the above/More
than one of the above

After the Mahaparinirvana of
Lord Buddha, the first Buddhist
council was held at

(A) Rajgriha (Rajgir)

(B) Gaya

(C) Pataliputra

(D) Vaishali

(E) None of the above/More

than one of the above

Who among the following first
issued gold coins on a large

scale?
(A) Pushyamitra Shunga
(B) Menander
© Vi;na Kadphises
(D) Gautamiputra Satakarni

(E) None of the above/More

than one of the above
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84.

85.

86.

rotation 0  its o
axis accounts for the daily ris

and setting of the sun?
@A)/ Aryabhata

(B)‘ Bhaskara

(C) Brahmagupta

(D) Varahamihira

(E) None of the above/More
than one of the above

The ruler of Suvarnabhumi, who
founded a Buddhist monastery
at Nalanda and requested
Devapala through his
ambassador to grant five villages
for its maintenance, was \

(A)
(B)
©
t2
(E)

Dharanindra
Sangramadhananjaya
Balaputradeva
Chudamanivarmana

None of the above/More
than one of the above

Who wrote Periplus of the

Erythraean Sea?
(A)
(B)
©)
(D)
(E)

Ctesias
Pliny
Ptolemy
Strabo

None of the above/More
than one of the above

81.

82.

83

uid e W OHN F S
e W g R

(A) AR @

(B) T WM A

(C) Foreht T e A

(D) FEwTe &

(B) I & @ T8/ A 4T
q fern

mﬂga%ﬁwkﬁafw#mm

g, wefifer g8 ot

(A) e () &

(B) T H

(©) wefergT #

(D) et |

(E) I # A TE/IHE A AT
3 wfiF

. w2 P wdvem = R W
Uiz SEe et

() e gn

(D) Thenfiga gt
(E) mﬁ%#?ﬁlmﬁ%@
q s

FD/CC/PT-2018/5-B

27

84,

85.

86.

Z7 ¥ Frgd eeh = ¥ =men # Al

fF geft % o g W T F HE

wffe gatea wd gaie g 87

(A) I

(B) wTERT

(C) F&TE

(D) =w=fEfE

(E) I § A HE TE/3H A A
3 i

gy w1 T T FR o, fE
Trer & wE de fER B R
o I @-TEE ¥g A WA
Seqrer @ e it 7 A 24 % fe ek
$i?

() U=

(B) EaTHUEA

(C) TEgE

(D)

(E) mﬁﬂﬁﬁl@ﬁa@
3 it 3

i 377 7 o & T ferlt?

&) FE

B) =i

(C) e

(D) Bt

(®) ww & w1 T/ A
g A
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87. The

carliest description of

Bakhtiyar Khilji’s invasion of

90.

Who among the following ruler
divided his troops into units

87. fEn W afGmaR fawsh F T W

90.

= wEH A A R SR 8 gt

Bihar is in two hundred, two hundred fift e foremo W gen DNAD DN EEE DR
d five hundred? T 1 Renfa o o7
(A) Tarikh-i Hind i ; (A) @3 e @
(a) Bahlul Lodi g (A) TG A
(B) Tabagat-i Nasiri B Sikandar Shah (B) dard-5 ® =
(C) Taj-ul Maasir |6) Sher Shah (C) ari-3d TRRE ©) e
(E) None of the above/More (E) None of the above/Mor, (B) I H A+ T/ IHE A (E) 3w & ¥ i TE/3F A A
than one of the above than one of the above 7 s @ i

gt & 5 o F WA A
88. Which Sult de ded half 91. Who stated that five thousan 91, I® H '
'ch(el crops anon mljl.nnde after to twenty thousand men worked B8-S0 ! ;ﬂﬂ: : w;mf P e ﬂf::ﬁz
measlurement as revenue? for forty years to build the e T % 9 A 9 ! fmfo # ufeg 90 & @ TR
palace of forty pillars at <Tef| et ek T R et
(A) Itutmish Allahabad in Akbar’s time? (A) g
@ wgH
(B) Balban (A) Manucci B) A . A
(C) Ala-ud-din Khilji (B) Tavernier (C) et fawrsit ©) e f
(D) Muhammad bin Tughlug (CIEwillicm fFanch (D) e ot g (D) g Bt TR
Hami i ;
(E) None of the above/More e ncul bam =R (E) 7w § 3 9 T/HE A (E) I A & 1 7 /3Hw A
than one of the above (E) None of the above/More A I [ s
than one of the above
89. Shaikh Bahauddin Zakaria | i a7 02, ‘sl & s AW A ARG G
belonged to wlau'l}::h sect? 92. Which Sultan was reputed to be . ST S i 5 o
‘Akbar of Kashmir’?
(A) Suhrawardi Silsilah . (A) FeE @ (A) e HGER TR
(A) Sultan Shamsuddin Shah s
. . *ais. ( ) H:ﬂal’q B)
(B) Rishi Silsilah (B) Sultan Qutbuddin (B) T FIEH
(C) Chisti Silsilah (€)1 Stitan Siiandar (c) fafea wwsem (©) FewH RF=
e e (D) Gewm S S
(D) Firdausi Silsilah (D) Sultan Zainul Abidin (D) 34
§a e AT (B} SEEH B /GHTAS
(B) None of the above/More (E) None of the above/More (E) ;"@F A A

than one of the above

than one of the above
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135.

136.

137.

138.

FD/CC/PT-2018/5-B

Which one of the following is

not an initiative for industrial

development?

(A) Make in India

(B) Ease of Doing Business

(C) Start-up India

(D) Digital India

(E) None of the above/More
than one of the above

PURA (Providing Urban

Amenities to Rural Areas) model

was advocated by

(A) A.P.J. Abdul Kalam

(B) Manmohan Singh

(C) Lal Krishna Advani

(D) Rajiv Gandhi

(E) None of the above/More
than one of the above

As per Census 2011, the female

literacy rate in India was

(A) 600 percent

(B) 63:0 percent

(C) 65'5 percent

(D) 685 percent

(E) None of the above/More
than one of the above

Who among the following has
given the idea of Self-Help

‘Groups as an effective tool for

poverty alleviation?

(A) Amartya Sen

(B) Md. Yunus

(C) S. Chakravarti

(D) Venkaiah Naidu

(E) None of the above/More
than one of the above

42

139.

140.

141.

142.

ho is the Govern,

nt,
Atprese”  Bank of India?

o the RCSCIV
w Uit Patel e
®) Raghuram Rajan
() Shanta Kumar
(D) Lalita p. Gupte
() None of the above/Mor
than one of the above

one of the following is the
pathway to increase produc
tivity in agriculture?
(A) Efficient irrigation
(B) Quality seeds
(C) Use of pesticides
(D) Use of fertilizers
(E) None of the above/More
than one of the above

Which

Which one of the following is the

objective of MGNREGA?

(A) To build assets

(B) To encourage
irrigation

(C) Water management

(D) To enhance rural income

(E) None of the above/More
than one of the above

micro-

Which one of the following was
not included in the intended
objectives of the Union Budg
2017-18?

(A) Transform India

(B) Clean India

(C) Educate India

(D) Energize India

(E) None of the above/More
than one of the above

135.

136.

137.

138.

e 3 & 2w @ i

forg et i 37 o

(A) e

(B) & st g fim

(C) w31 ifem

(D) feforea sfem

(E) 3T H & /o 4 4
q s

qu (arfir & & mim gl we

F07) ey fREd gm wedtE

TR A7

(A) To Hlo Sto IFsgel HEH

(B) wrea e

(C) e Tt

(D) Trsfa i

) 7w & 3 = /T 1A
g

<o 2011 % AR, W e

e A

(A) 60-0 HfeTd

(B) 63-0 Wi

(C) 655 ST

(D) 685 Wi

() S § 3 1 T/
3 AfE

ﬁﬁﬂﬁ@ﬂﬁﬂﬁaﬂﬂﬁm
e 3w & -t W F R
feam an?

(@A) e ¥

(B) o T

(C) o

(D) N ATG
(E) Wﬁﬂﬂ?ﬁﬂ“ﬁﬁﬂﬂ@
gl
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139.

140.

141.

142.

Tém #, wnda ford d W T

+ 87

(A) 3hfa v

(B) T T

(C) m=n R

(D) e Slo TH

(E) mﬂwﬁﬁiﬁ/mﬁﬁ%@
g arfers

frm & A FA-E T PO A IR

wEr 1 T 87

() F e

(B) TR A

(C) AR F T

(D) 3w AT

(E) wﬁ?ﬁﬁﬂﬂw’@ﬁ/“ﬁﬁ@@
3 ik

fre @ A TR S
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(A) et 1 T

B) gn-frd #1 eafEd

(C) @ WA

(D) T 3T TG

(E) mﬁ@ﬁﬁlwﬁﬂ@
B fereh

fm § ¥ AE-W T TR W

2017-18 ¥ enfig gt & wiEfd

Ei

(A) T I FIIRE FE

(B) WA F TS H

(C) v 1 Rfem FE

(D) WA I FATH T

(B) i i @ F /I A A
3 e
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143.

Which one of the following most

147. ‘Bihar Economic Survey’, for the' 143, i
: ; f ) . T P
appropriately  describes  the f'u.'st tufxe, was published for th - mﬁ? T, 20 T 3 147, B oy
nature of Green Revolution of Financial Year 2 . R T iy ﬁmﬁ%mmﬁmg S
late sixties of 20th century? (A) 2004-05 W q Uy ? e
07 F 77 (A) 2004-05
(A) Intensive cultivation of (B) 2006~ (A) m“%l‘ﬁﬁm*@?ﬁ 5
green vegetable (C) 2008-09 (B) T M et g (C) 1006"0;
(B) Intensive agriculture (D) 2009-10 (©) mm%mm (@) 2008-0
district programme (E) None of the above/More (D) H9-wden (1;) 2009;1ga,ﬁ-§ 3
(C) High-yielding varieties than one of the above = =SS qeheTeRy (E) ;‘TQE T /IS # A
: 3 programme 148. In Bihar, during April-June (E) ;‘léﬁiﬁﬁﬁhﬁqﬁ/mﬁgm i
(D) Seed'Fertﬂlzer'Wtate; 1 2018,  which sectc]:Drl : SRS 148. fEm # s¥@=<@ 2018 ¥ w fw
ECNOlORY attracted the highest FDI equity & 3 wAE o F c
(E) None of the above/More nfoOW? - T A Ay M o fo 3o st = mﬁ?ﬁm; e
than one of the above (A) Service sector 27 Bl e
144. Who among the following is the (B) Steel industry. _ (A) ey =7 (B) T wdm
CEO of the NITI Aayog? (C) Processing industry in (B) o wHo 1z (C) N i swem @m
(4) Amitabh Kant - e 1 | (©) = foeh (D) ke
(B) S. S. Mundra SIICHLENALLS <
(C) Cyrus Mistry (E) None of the above/More (D) mﬁ‘m L (E) I & & 18 7€ /3w & 4 o
(D) Soumya Kanti Ghosh than one of the above (E) ??f‘qa; 13 T I A ¥ a1
(E) None of the above/More 149. What is the percentage of 149. 2017-18 & firer =3 # F # Fww@
than one of the above population in Bihar = State R SR 2011 sER, fr= T ) W A
145. Which one of the following employed in agriculture sector T 4 A Fr ©F § SAEE # ae (A) 65
States has the highest density 12)22157_18? i 27 B) 67
f population according to the
%er?sfs of India, 20115, (B) 67 (A) (©) 68
: : Y e D) 70
(A) Kerala (C) 68 (Bl ( ST H W F TE /3T A A
(B) Haryana (D) 70 (©) fEw (E)
(C) Bihar (E) None of the above /More (D) I T 4 srfirs
(D) Uttar Pradesh than one of the above (E) TR A T e < eiid0ieT 5 e
(E) None of the above/More 150. What was the economic growth’ q fees anfefer forpma &g = ofi?
than one of the above rate of the State of Bihar during & e (A) 63 fawE
146. What is the sex ratio in Bihar the year 2016-17? . W 2 201%? - (B) 7-3 W@
State as per the Census of India, (A) 63 percent T A WW% (©) 83 gt
e (B) 7-3 percent (A) 893 (B) 916 (D) 93 wRm
(A) 893 (B) 916 (C) 83 percent (©) 918 (D) 925
(C) 918 (D) 925 (D) 93 percent
(E) None of the above/More

than one of the above

(E) None of the above /More
than one of the above

() T A A /w A
2 st

(E) I0 7 3 FE T8 /30w | 8 &
Q Ao

i
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